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B.Com. (Bachelor of Commerce)
First Year, Examination — 2012
BC-04
Business Communication

EARF §9R

Time: 3 Hours Maximum Marks: 60

Note: This paper is obixty (60) marks divided intdhree (03)sections. Learners
are required to attempt the questions containetiese sections according to the
detailed instructions given therein.

Alc: Ig A UF A16 (60) 37T & & S diel (03) @3 &7 Ariaid § |
Rt &1 g7 wel & v av farga Wt & AR & yesAr &
IR A & |

SECTION — A
(Long-answer - type questions)

Note: Section ‘A’ contains four (04) long-answer-typeegtions of fifteen (15)
marks eachlearners are required to answer two (02) questions only.

(2*15=30)
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Al N F FH AR (04) Y IcaiT T B T § gqd A F faw
Yegg (15) 3 AuiRa & |, fenfdar #t sa# & Faer gt gea] & 3cav 37
&

1. What do you understand by ‘S.W.O.T. Analysis’? Disxthe elements and
process of S.W.O.T. Analysis.

‘Tale (SWOT) fageyor & 39 a1 §HASIT § ? Tdic’ Aewor &
dear 3R wufehar & sarear w0

2. Define communication barriers. Explain the diff# types of
communication barrier.

TIR a0l oReRT #Y [ yeR & IR 3@t i
SATEAT |

3. It is said that “Listening is most neglectedlski communication process

What is an ideal listening process in an effecteenmunication? Discuss the
principles of effective listening.

Jg gl ST g [ "TIR UThAT #§ TEw 3T H9ur Hiee g
T FOR H 3CT #19uT UihdmT &1 gidl &? YTl &/ auT & fagrar
$r TEr M|

4. What do you understand by oral presentationcu3s the principles of
effective oral presentation.

BC-04 Page 2



AM@HR TEIAHROT A 39 T FHSIA &2 Tl Ff@eh Feeiehior
* grdar #r = W

SECTION — B/ #T9T @

(Short — answer — type questionsy o Jcaid Fea

Note: Section ‘B’ contains eight (08) short- answer tgpestions of five (05)
marks eachlearners are required to answer four (04) questions only. Answers
of these questions must be restricted to two huhfity (250) words
approximately. (4*5=20)

sl (9T '@ ' H IS (08) oY v yer oI A& Ycdeh TRe o ferw
g 37 SIRa &, fennfefar #1 ga#8 & Faer ar geal ¥ 3cav 3 &
JAF U2T FT 3caR &l AT TATT (250) LTscr I 3T el gleAT ARy

Briefly answerany four (04) of the following;
o F q gt o (04) geat & 3cav 3 &

1. What do you understand by effective communicatimtess?
JHTAT IR 9fehar & 39 7 ASTd § ?

2. Define Grape vine Communication.

IRl AR @l aRed Y|

3. What are thesemantic barriers in Communication?
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TAR F T -aremy Far 2
4. What are the different types of presentation?
TEJARIOT & fafdeet ghR T &2
5. Explain Business Message.
SIaaTe TG H SATEAT RIS |
6. What are the objectives of group discussion?
THE TG & 32T AT §?
7. Write a sample business enquiry letter.
IR ISATS 9 Teh &1 #eA ol |
8. What are the means/media of written communication?

f@a 99r & aresr / Afar Far §2
SECTION-C/ @S

(Objective — type questions) /qFJfIss o)

Note: Section ‘C’ contains ten (10) objective —type diges of one (01) mark
each All the questions of this section are compulsory.

(10*1=10)
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HAlC T T H S (10) TEISS Yo G T & I U & Tl Teh
3 WUIRT & | 59 @5 & @3ft wear sifaard & /

Indicate whether the following are true or false:

g &Y T AeATAITET T & A1 9167 |

1. The process of converting a thought into an orail®yl is called Decoding
(T/F)

Teh AR & JAfQ@s udies J seda &1 Ufhar I S-hg FET Hgl SATdl
gl

2. A report which studies future sales and profit peags is called a feasibility
report. (T/F)

Y [T 3R 1T a3 & AT ) & v =T 715 RO i
FHTgaT RAYE gl ST & |

3. ‘Principle of Clarity’ in communication states théie message communicated
should be complete. (T/F)

HIR F Tosedt &1 Agia’ adrar § 6 aufa @ qot g =nfgu)

4. Formal communication is official and planned. T/R)
ftgarite R nfeRe AR EfSa g ar gl

5. Encouraging individuals to work in a desired marieeralled motivation.(T/F)
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fFgal H gifd dlie ¥ ST FUMGd & I Acdigd el
TAUROT  ShgeldT &l

Indicate the correct answer-option:
IR & forw |l ey &1 g HIfY |

6. Which of the following is not an element of 7C Riple of Effective
Communication?

(A) Completeness.

(B) Conciseness.

(C) Clarity.

(D) Candidness.

e # & @7 @1 7 wrer §IR FAGIT &1 Teh ded 78T 82
(A) o,

(B) If&IfCaar .

(C) FIscdr.

(D) ToAsehTear

7. Which of the following represents the differentpsteof writing skills in a
sequential order?

(A) Planning, Editing, Revising, Feedback, Firsaidr

(B) Planning, Feedback, First Draft, Revising, Edjt
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(C) Planning, First Draft, Revising, Editing, Feadk.

(D) None of the above

AT & @ hleT Tk 3hiA® e F el G & A= wolt 1
giaffcd ar g2

(A) ANSTAT, HUTE, TN, FTAfhdT, Tgell ST%e.

(B) IrsteTr, wfafshar, ggelr 3Moe, TR, FUGH

(C) TSI, Ugell 3Te, HeAEre, HUIGaT Tcifohdr,.

(D) 3WiFd H & FI$ Far

8. Which of the following is a type of grapevine commuation?
(A) Single Chain.

(B) Cluster Model.

(C) Gossip Pattern.

(D) All of the above.

e 7 & FI7 Il AR &I Th JhR §?
(A) TS 3MTET

(B) =BT Al

(C) ITIAT ST

(D) 3Wrad THT
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9. Which of the following is not an element of SWOT &ysis?

(A) Strength.

(B) Weakness.

(C) Opponents.

(D) Threats.

T # @ &l @1 T [AAWOT T Ueh ded T80 82

(A) fed.

(B) FHFASIN.

(c) farelr

(D) TR

10. Which of the following is an element of oral anggeal language?
(A) Body language or Kinesics.

(B) Proxemics.

(C) Sign Language.

(D) All of the above.

Tt 7 O @l a1 FAf@e 3k Fionfaes AT FT T dcd g?
(A) AR sreT 1 39T T () T

(C) & fawy (D) 3T Tl
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